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1. If 𝐚,𝐛,𝐜 be three non-coplanar vectors and 𝐩,𝐪,𝐫 constitute the corresponding reciprocal system 

of vectors then for any arbitrary vector α
a)α = ( α ∙ 𝐚)𝐚 + ( α ∙ 𝐛 )𝐛 +(α ∙ 𝐜)𝐜 b)α = ( α ∙ 𝐩)𝐩 + ( α ∙ 𝐪 )𝐪 +(α ∙ 𝐫)𝐫
c) α = ( α ∙ 𝐩)𝐚 + ( α ∙ 𝐪 )𝐛 +(α ∙ 𝐫)𝐜 d)None of the above

2. The vector 𝐚 × (𝐛 × 𝐜) is coplanar with the vectors 

a)𝐛,𝐜 b)𝐚,𝐛 c) 𝐚,𝐜 d)𝐚,𝐛,𝐜
3. If 𝐛 is a unit vector, then (𝐚 ∙ 𝐛)𝐛 + 𝐛 × (𝐚 × 𝐛)is 

a) |𝐚|2𝐛 b) |𝐚 ∙ 𝐛|𝐚 c) 𝐚 d)𝐛
4. If ∑𝑛𝑖=1 |𝐚𝑖| = 𝟎, where |𝐚𝑖| = 1∀𝑖, then the value of ∑1≤𝑖<∑𝑗≤𝑛 𝐚𝑖 ∙ 𝐚𝑗 is

a)𝑛2 b) ― 𝑛2 c) 𝑛 d) ― 𝑛
2

5. If the vector 3𝐢 ―2𝐣 ―5𝐤 is perpendicular to 𝑐𝐤 ― 𝐣 +6𝐢 then 𝑐 is equal to 

a) 3 b)4 c) 5 d)6

6. If 𝐚 × 𝐛 = 𝟎 and 𝐚 ∙ 𝐛 = 0, then 

a) 𝐚 ⊥ 𝐛 b)𝐚||𝐛 c) 𝐚 = 𝟎 and 𝐛 = 𝟎 d)𝐚 = 𝟎 or 𝐛 = 𝟎
7. If 2𝐢 +4𝐣 ―5𝐤 and 𝐢 +2𝐣 +3𝐤 are adjacent side of a parallelogram, then the lengths of its 

diagonals are 

a) 7, 69 b)6, 59 c) 5, 65 d)5, 55

8. Let 𝐚,𝐛,𝐜 be unit vectors such that 𝐚 + 𝐛 + 𝐜 = 0. Which of the following is correct?

a) 𝐚 × 𝐛 = 𝐛 × 𝐜 = 𝐜 × 𝐚 = 𝟎 b)𝐚 × 𝐛 = 𝐛 × 𝐜 = 𝐜 × 𝐚 ≠ 𝟎
c) 𝐚 × 𝐛 = 𝐛 × 𝐜 = 𝐚 × 𝐜 = 𝟎 d)𝐚 × 𝐛,𝐛 × 𝐜,𝐜 × 𝐚 are mutually perpendicular

9. If 𝐺 is the centre of a regular hexagon 𝐴𝐵𝐶𝐷𝐸𝐹, then 𝐴𝐵 + 𝐴𝐶 + 𝐴𝐷 + 𝐴𝐸 + 𝐴𝐹 =

a) 3𝐴𝐺 b)2𝐴𝐺 c) 6𝐴𝐺 d)4𝐴𝐺
10. I.  Two non-zero. Non-collinear vectors are linearly independent .

II. Any three coplanar vectors are linearly dependent. Which of the above statements is /are true?
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a) Only I b)Only II c) Both I and II d)Neither I nor II

11. If 𝑎,𝑏 and 𝑐 are unit coplanar vectors, then

[2𝑎 ― 3𝑏 7𝑏 ― 9𝑐 12𝑐 ― 23𝑎] is equal ro

a) 0 b)1/2 c) 24 d)32

12. [𝐚 + 𝐛 𝐛 + 𝐜  𝐜 + 𝐚] = [𝐚 𝐛 𝐜],  then 

a) [𝐚 𝐛 𝐜] = 1 b)𝐚, 𝐛, 𝐜 are coplanar 

c) [𝐚 𝐛 𝐜] = ―1 d)𝐚, 𝐛, 𝐜 are mutually perpendicular 

13. If 𝐚 + 𝐛 + 𝐜 = 𝟎 and |𝐚| = 37, |𝐛| = 3, |𝐜| = 4, then the angle between 𝐛 and 𝐜
a) 30° b)45° c) 60° d)90°

14. A unit vector coplanar with 𝐢 + 𝐣 +2𝐤 and 𝐢 +2𝐣 + 𝐤, and perpendicular to 𝐢 + 𝐣 + 𝐤 is

a) (𝐣 ― 𝐤
2

) b)(𝐢 + 𝐣 + 𝐤
3

) c) (𝐢 + 𝐣 + 2𝐤
6

) d)(𝐢 + 𝐣 + 𝐤
6

)

15. The projection of the vector 𝑖 + 𝑗 + 𝑘 along the vector of 𝑗, is
a) 1 b)0 c) 2 d) ―1

16. Volume of the parallelopiped having vertices at 𝑂 ≡ (0,0,0),   𝐴 ≡ (2, ― 2,4), 

 𝐵 ≡ (5, ― 4,4) and 𝐶 ≡ (1, ― 2,4)

a) 5 cu units b)10 cu units c) 15 cu units d)20 cu units 

17. The area of parallelogram constructed on the vectors 𝑎 = 𝑝 +2𝑞 and 𝑏 = 2𝑝 + 𝑞, where 𝑝 and 𝑞 

are unit vectors forming an angle of 30° is

a) 3/2 b)5/2 c) 7/2 d)None of these

18. If 𝑎 is a vector perpendicular to the vectors 𝑏 = 𝑖 +2𝑗 +3𝑘 and 𝑐 = ―2𝑖 +4𝑗 + 𝑘 and satisfies the 

condition 𝑎.(𝑖 ― 2𝑗 + 𝑘) = ―6, then 𝑎 =

a) 5𝑖 +
7

2
𝑗 ―4𝑘 b)10𝑖 +7𝑗 ―8𝑘 c) 5𝑖 ― 7

2
𝑗 +4𝑘 d)None of these

19. The projection of 𝐚 = 3𝐢 ― 𝐣 +5𝐤 on 𝐛 = 2𝐢 +3𝐣 + 𝐤 is

a)
8

35 b)
9

39 c)
8

14 d) 14

20. Let 𝐴𝐵𝐶𝐷𝐸𝐹 be a regular hexagon and 𝐀𝐁 = 𝐚, 𝐁𝐂 = 𝐛, 𝐂𝐃 = 𝐜, then 𝐀𝐄 is equal to

a) 𝐚 + 𝐛 + 𝐜 b)𝐛 + 𝐜 c) 𝐚 + 𝐛 d)𝐚 + 𝐜
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